S3 (3.1) Volume.notebook

Daily Practice 22.2.2016
Q1. Multiply out and simplify (3x - 2)(x? - 7x + 3)
3 -2+ -2t 4> — b
Q2. Factorise fully 3x2 - 75
302~
3y (x Jr 5 Yo =5 )
Q3. Calculate the value of a house worth £148 000 that

appreciated by 3.5% per annum for 3 years 100 % + 3.9, = (033
3
k000 % 039~ Fi64 04025

Q4. Calculate the area of an eighth of a circle with diameter 14cm

n- “12 H Rt (Ro\.P)

Volume of 3 prism 22.2.\b

® o 3D S\'\n?v. with e Same cross ~sechion
4ve uUnde m:j 'H\roujh k.

Eﬁ ’F\uﬁu\d‘ Pnsm . cuboid, Céj \-o%::v\‘
P k.

Vo(umz of a ?Mnr\: Ama Cross-Seckion X HQ@&

Volume of 3 prism

Use your knowledge of volume of prisms to state the formula for the
volume of the following objects.
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L.I: Today we will be revising how to find the volume of a
prism.

S.C: We will be able to find the volume of prisms and be
able to calculate the height or radius given the volume.

Volume of 3 prism

Evdume of a prism = Area of Cross Section x Length

Volume of a prism

Examp]e: :‘-{-:w\"}‘zml keeps his washing in a basket. The basket is in the shape of a

mo’o"
et XRh

0
:.;.:.:.:m..'.w.v
" X XXX
KRR

Voluwa = f\rau cfoss - Sadwxx L\u‘jb&
(LxB + m) <« 50

(R0 Guan)) x50
(g + 43239) %30
= [17a-39%30
= 958619 S’ - 58600(»/\
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Daily Practice 23.2.16

Q1. Multiply out and simplify (2x + 3)(x2 + 7x + 4)
Y ' Fyélx’+l'~lxl+8><+3)< Sa 2t

Qo3 13 +29x 1R
3o+ [ + 2 E

Q2. Simplify >i(>;5 + éx%)o xs 55
+dx | For R B
Xty < —)?. + :l x° ‘ X=X

Q3. Find the value of a house thatwas purchased for £165 000 and

depreciated in value by 3% in its first year and appreciated in value by

4.5% in its second \65000\0??_ £|60 050
(60030x1-045 =f147 252 .25

Q4 A 13 Q5. F. ise x?
. 33230 . Factorise x? + 4x - 12
28 2 (x—l\(x%)
12 -1
=13
=1

Volume of 3 prism

1. Calculate the volume of each shape below. Worksheet

(
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Volume of 3 prism

3. Each shape below has a cross-section made of a rectangle and a semi-circle.

’ cm.

16cm

64 mm
60 mm
88 mm
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Today we will be continuing to work out the
volume of prisms.

Volume of 3 prism

2. @ ®

21cem Tcm

21cm 2

b2
B
Caleulate the volume of each shape. Az D+ freald
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(Gr0+ RS 12

=129 g
3 P
S902em - )
—_——
27 em! 60 mm
& @ﬂ%%

Byves, cross-sechion S ‘N-ﬂw“
E(z? x[6) + ((rrxls-sl)+2) O

Gs2raes) o “qgae,e



S3 (3.1) Volume.notebook March 02, 2016

* S + 9 Daily Practice 24.2.16
* +* uccg‘{ss ° * Q1. Write 6 million in scientific notation
é x10°
I can describe what a prism is. = e | &=
Q2. Multiply out and simplify (3x - 1)
P -bxr]
Q3. Factorise 16 - y* Q4. Calculate
(0]
U+ 5)(“ —3) the arc length of the shaded
— | = — sector
I can find the volume of a prism A ‘Jcm
, C‘*’\ﬂk
T 2¢
5. %
860 % 0
235
< 3o xRl
T 93U
Daily Practice 26.2.16

Q1. Caleulate the volume of a c3|inc]er with diameter 1 6cm and hcight 24cm
V- meth 5
Vo r < 82224 = 4389 4%em’ (29p)
QZ. Mu|tiplg out and simph% (2x -~ 1)(4- +x)
Bx tax?-4-X
Rxteixt

L.I: Today we will be learning how to find the
volume of a pyramid and a cone.

Q3. Calculate the rf:ng|f: at the centre of this sector, given that the areais S.C: We will be able to find the volume of a pyramid
56cm As f:_;:&’ * e’ and a cone.

56 = zgeex Wb’ %

b > 6111
0445 = >
360«

>x=0.495.  x 360°
x:1783° (\J.‘:\)

Volume of 3 pyramid

Volume of a pyramid This cube has been divided into 6 equal

square based pyramids.

Types of Pyramids:

L
V- LxBxH
6
V= LxBx dh =t
6 e
V= (xBxh
3
V'—% xR xh

V=% xhrea base W
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Volume of 3 pyramid

i Volume =1/, Area base x Ij?\igh’t

[ﬁ, pdicaler baight

1. Find the volume of a pyramid with a square base with sides of
length 6cm and a height of 10cm

V- 5(bxb) x 10
V- $G6)x10 < 130ea’

riongule bosed

2. Find the volume of th tpyramld shown

V=%(%xllxlo) X (&

At base

V- £x g5 x 13 -Q30em  Bax .ﬁk
o

Examples:

* * *
¥ Succiess? Yo
xSk K
I can describe how the volume of 3 ¥ -
pyramid is calculated.
o

I can find the volume of various types = =

of pyramids.

Ddily Practice 29.2.16

Ql. Calcvatc the volume (‘)f a cone with diameter 12cm and height 19cm.
2 A qeth = S e qen bexlq T He-283 > Heden

Q2. Find the value of a house that was worth £120 000 and appreciated by
5.2% per annum for 4 years. [00% + 2% =103 Q% = {05

[@0ooox [-05_%: fub973:25 Ul

Q3. Calculate the perimeter of this shape 8cm B - -
Q4. Calculate the length of DC 15cm N
. o 19
Sinx - W x mo g+U+]] T ”ﬂ__?{)
Sinsbs X o0 e S0+ (3.st
4 P - U353
H XSH\S& = X \

s 1573m dp):DC

(lde)
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Volume of a pyramid

Questions

1. A pyramid has a square base of side 7cm and a height of 13cm. Calculate
the volume to 2s.f.

2. A pyramid has a rectangular base measuring 15mm by 14mm and a
vertical height of 10mm. Calculate the volume.

3. Calculate the volume of the pyramids shown

@ 7em (bA 10cm
o

8cm

ol
3
15 1Y)
&y

(f) (ohat s tmcafmk;j of
e Ms mf?

L.I: Today we will be learning how to find the
volume of a pyramid and a cone.

S.C: We will be able to find the volume of a pyramid
and a cone.

L.I: Today we will be learning how to find the volume of a
cone and working backwards.

Homework online due 7.3.16
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Volume of Cones: Examples

1. Calculate the volume of this cone given the slant height is 8cm and the
radius is 3cm

L\Z? §2~32: 55
h-V35 - 7. 4am @dp
V-5 wixh =
vfém:xxszx%uazéiﬁﬁ(“"’) ’

2. Calculate the radius given that the

volume = 658cm? 6 cm
V = ‘S’“T)LL W
638 = ¥xur'xb
St L
=3xb ~3m xb
658
- 2
68 =F¢
=10y

re\{04-12< 10-230m Qdp)

Today we will be continuing to practise questions
on the volume of cylinder and cone.

Homework due Monday.

Calculate the missing value for each of the following:

@ A (b)
/A
[ hem
0.84m
e ) dem
v = 1800cr? V=126n7 V =16493cm?
@ Capacity = 2.2L

15cm

March 02, 2016

Daily Practice 1.5.2016

Q1. Calculate the height of a cylinder that has a volume of 540cm?® and a
radius of 4.5cm (Give your answer to 1 s.f.)
TR h= 40 - g9
540 = x5 xh WA o ()
Q2. Multiply out and simplify (2x - 1)(x* + 5x - 4) _
A 10 -Bx —x3-Sxc t U
45 H(0x> A3 tW
Q3. State the equation of the line joining (-2, 3) and (0, 1)
m-Y =3 -2 =px4C
X XiT O0-C) T == =+
Q4. Factorise 3x2 - 14x + 8 (9,—

(x - QL@X —:l)

2

Volume of 3 cone

1. Calculate the volume of each cone described below. rounding your answers to 1 decimal

place.
(@) r=3cmand/=6cm
()  r=Smmand/=12mm

(© r=3cmand/i=5cm

(d) r=2mand/=6m

A cone has a base diameter of 8cm and a height of Sem. Calculate the volume of this cone.

A cone has a base diameter of 10cm and a slant height of 13cm.
13cm
Calculate the volume of the cone.
4.

i

A cone has a base radius of 9cm and a slant height of 15cm.

Calculate the volume of the cone.

. Calculate the total volume of this shape

w

15cm5
M —
—»

8cm

21cm

T

cm Diagram NOT
accurately drawn

30 cm ———»

A frustum is made by removing a small cone from a similar large cone.
The height of the small cone is 20 cm.

The height of the large cone is 40 cm.

The diameter of the base of the large cone is 30 em.

‘Work out the volume of the frustum.

Give your answer correct to 3 significant figures.
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A container to hold chocolates is in the
shape of part of a cone with dimensions as
shown below.

32em

Calculate the volume of the container.

Give your answer correct to one significant figure.

Perfecto Tee Cream is sold in cones and cylindrical tubs with measurements
as shown below.

10-4cm

—_——
T &
llcm

b
s 2
20cm PERFECTD | |58em

Both the cone and the tub of ice cream cost the same.
Which conuiner of ice cream is better value for money?
Give a reason for your answer.

A glass ornament in the shape of a cone is partly filled with coloured water.

24cm
16cm

30cm

The cone is 24 centimetres high and has a base of diameter 30 centimetres.
The water is 16 centimetres deep and measures 10 centimetres across the
top.

What is the volume of the water?

Give your answer correct to 2 significant figures.

March 02, 2016

A drinks container is in the shape of a
cylinder with radius 20 centimetres and
height 50 centimetres.

? 50cm
(a) Calculate the volume of the drinks
container.
Give your answer in cubic centimetres,
e . — 3
correct to two significant figures. 20cm

(b) Liquid from the full container can fill 800 cups, in the shape of cones,
each of radius 3 centimetres.

What will be the height of liquid in each cup? 4

The diagram shows a cone.

|

12¢cm

The height is 12 centimetres and the radius of the base 10 centimetres.
Calculate the volume of the cone.
Take t=3-14. 2

Daily Practice 2316

Q1. Round 814403 to 2 significant figures
Q2. Multiply out and simplify (2x - 1)(x? - 3x - 4)
Q3. Factorise fu”y 50x? - 8

Q4. Calculate the length of an arc that has angle at centre 150 and
radius 28cm
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Volume of 3 sphere

L.I: Today we will be learning how to calculate the volume The volume of a sphere is found using Integration, a type of Maths in the

of a sphere and volume problem solving questions. Higher Course. You will be given the formula in your exam.

S.C: We understand the formula for the volume of a
sphere and can apply it to questions containing spheres
and hemispheres.

Homework Online due 7.3.16

Volume of a sphere

Volume of a sphere

3. Calculate the radius of this sphere given the volume is 780cm?
Examples:

1. Calculate the volume of a sphere with diameter 8cm @
U s —
V- 3 NG

V=S 7 - Qes o

2. Calculate the volume of 3 hemisphere with radius 7cm
4 .
\/ Y /\‘(FB -~ ,()\
4 LAY
V -3 XWX {l ~
\- 43 Bew’



